Multiplication and Division Facts

77+7= 100 + 10 = 72 +12 = O%x9=
66 + 6= 6x6= 88 +8 = 12x 8=
88 -8 = 90 + 10 = 77 +7= O%x9=
11 x9= 70 =10 = 80 +8 = 120 - 10 =
80 +8 = 48 + 8 = 7x9= 6x10=
Tx7T= 8x9= 7T+ = 8 x 8=
8 X 6= 7x10= 121 + 11 = 9 x 8=
63+9= 10 x 7 = 120+ 10 = 72 +6 =
11x11= 90 -9 = 60+ 6= 10x 12 =
72+ 8= 11x11= Ox 12 = 66 + 11 =
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Multiplication and Division Facts Answers

77T +7=11

66 +-6=11

88 +8=11

11 x9=99

80+8=10

7T x7=49

8 X 6=48

63+-9=7

11 x11=121

72 +-8=9

100 +10=10

6 X6 =236

90+10=9

70 +10=7

48 +8=6

8x9="72

7x10="70

10x7=70

90 +9=10

I1x11=121

72 +12=6

88 +8=11

77T +7=11

80+8=10

7x9=63

77T +7=11

121 =11 =11

120+ 10=12

60+6=10

9x12=108
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Ox9=81

12 x 8 =96

Ox9=81

120+ 10=12

6x10=60

8x 8=64

Ox8=72

72+6=12

10 x 12 =120

66+-11=6



